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New York 2:30

2:45

Atlanta

St Louis

:45

1:20

Total=3:15
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Total=4:05
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� �� s 
��� 	��� ���� 	���� ��� G&
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'� ����� ��� ����	
���� p = (v0, v1, · · · , vk) ���
� ��� �� �� �������
 �(� �
�)� �(�
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���&

w(p) =

k∑
i=1

w(vi−1, vi)

'� ����	��� 
�������� ������ 

� ��� u 
��� ��� v ���+��
� �
��

δ(u, v) =

{
min{w(p) : u

p→ v} ��� �
��!�� ����
��� 

� ��� u 
��� ��� v
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 G = (V, E) 	
� ��
 ���������

����� w� 	
� ���! p = (v1, v2, · · · , vk) ���
� ��
 ���"���� ����
��� 

� ��� v1 
�� 

��� vk# $�
 1 ≤ i ≤ j ≤ k� ���! pi,j = (vi, · · · , vj) �� �
�%����
��� ��� p 

� ��� vi


�� ��� vj # &���� �� pi,j ���
� ��
 ���"���� ����
���#

��
����� �'� �� ���
� �

�!�(�

v1

p
v1,i
i

p’

vj

p
j,k vk

p

i,j

i,j

• w(p) = w(p1,i) + w(pi,j) + w(pj,k) 	
� �� w(p) ���
� ���"����#

• �
������ ��� �� pi,j )�� ���
� ���"����# *+��! ��� �� p′i,j ���
� ��
 ���"���� ����
���#

• w(p′i,j) < w(pi,j)#

• &���� �� p )�� ���
� ���"���� ����
���# '�
 	
�
�( 
����
��#

�&� ����
��� p′ : p1,i − p′i,j − pj,k �"�� ��	������ ���� 

� �� p#�

�
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 ��
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 G = (V, E) �� �� 
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• S# ������ 	����� 
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• d[v]# !�
 ���&���� ��
 �� ����$ ��� ��
������ ����
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� ��� s 
��$ ��� v"
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�����
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�� 
���!��� ���$ 	�����$ ��� ������� V − S �� 	���%�

��$ d ���!$ ���$"

Dijkstra(G, w, s)

for each vertex v ∈ V do

d[v] = +∞
d[s] = 0

Q = V

while Q �= ∅ do

u = Extract min(Q)

S = S ∪ {u}
for each vertex v ∈ adj[u] and v ∈ V − S do

if d[v] > d[u] + w[u, v] then

d[v] = d[u] + w[u, v]
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� {s, a} a � �� �� �� ���

� {s, a, c} c � ��  � �� ��

! {s, a, b, c} b � ��  � �� ��

 {s, a, b, c, d} d � ��  � �� ��
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��� ��� v 
��


������ ���� 

� 	������ ��� S�

�����	
�

s

x
S

w

v

 !�
� 
����"����� ��� w ��� S 
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��� ��� w%
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• '�� �� ����
��� 
��
���� �"�# ��� (

����) S ���� w 	
� ���� 	
������
� ���� v%

���� � ���$ d[v] "��� ������#��� �#����
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w(T ) =
∑
e∈T

w(e)

�
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Generic MST (G, w)

A = ∅
while A does not form a spanning tree do

Find an edge (u, v) that is safe for A.

A = A ∪ {(u, v)}
return A

������� �invariant� ��� ���������� %&� A ���
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 �
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�
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���� �
� ���	������� ����	��� �	��

��
���	�� ��
�
� T �

����� (v, x) � ���� ��� T ��� ��
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v w
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T ′ = T − {(v, x)} ∪ {(v, w)}�
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� ��������	
 �	� Prim

• �
�� ��� �	������ ��� 
���������� ���� �� 	����� 
�� ��� ����� ���
���� ��� ������

����	���
� �� ��
 ���� 
�����
�����
 Q �� 	����� �� 
���� key!

• "�
 	��� 	���� v ∈ V, key[v] ���
� �� �������� ���� �� 
	�# 
�� ��$��� ��� 	����

v �� ��
� 	���� ��� �������!

• %� 
���� π[v] ���$��� ��� &

���
' ��� v ��� ������!

MST prim(G, w, r) 
� r is the root of the spanning tree �


for each u ∈ V do key[u] = +∞
key[r] = 0

π[r] = nil

Q = V

while Q �= ∅ do

u = extract min(Q)

for each v ∈ adjacent list(u) do

if v ∈ Q and w[u, v] < key[v] then

π[v] = u

key[v] = w(u, v)

�������� O(V log V + E log V ) = O(E log V ) ��� � ���� ������	
����	�

�
���
���� �	� ��	�
��� ������

O(V log V + E) ��� � ���� ������	
����	� �
���
���� �	� ����� Fibonacci�

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

����������

• ����� 
������
�
 ��������
������ �
���� �
 ������ 

� ��
 ���������� 
���������
 ����!�" � 
��������� 
���� �	
 ���������

�����	�
����

• #��$���
 %�
���%���	� %��%�

&
�
�	��
�� ��
 �
 %�
���%���	� %��%�
�

����%������ �� %��%�� �� �� ���$���� ������

�������' O (C (|E|, n − 1) · n)

• #��$���
 ����
���
 

� 	���� 
(�����
 )�� �� 
�����	� ����*
+�
 	��� 	���� v" 	
�
�	��
�� ��
 �
 ����
���
 

� ��� 
(�����
 s


��� ��� 	���� v�

����%������ �� ����
��� ���$���� �������

�������' O (C (|E|, n − 1) · n · n)

• , �������� �%�����!� 
�� %��
��� ��� �������� ���� �%���� �� ���������

�����������
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�

�

�

��������� 	
��
����
����� �Dynamic Programming�

�������������� 	
����
���

• � �������� ���� ��� 
������
��� 
������� ��������� ������ ��� �
��
����������

��� 

• !
�	
��
�����
 �
��
������
�
 

"
 ����������#

• �������� Fibonacci 

• ����

�
��
���� 
���$%
� 
���	�� 

• &��
������ 	���� �
��
	�����$
 

• !������
 ����
���
 ��
 ��
 �
 '���� 	����� 

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

������� Fibonacci

� n������ ������� Fibonacci F (n) ������
� 

� ��� 
�
�����	� �� ��!

F (0) = 0

F (1) = 1

F (n) = F (n − 1) + F (n − 2) ��
 n ≥ 2

F (2) = 1, F (3) = 2, F (4) = 3, F (5) = 5, F (6) = 8, F (7) = 13, F (8) = 21, · · ·

��	
� ���

	�� 
��������� ��
 ��	 ���������� ��� F (n), n ≥ 1

Fibinacci(n)

if n < 2 then return (n)

else return (Fibonacci(n − 1) + Fibonacci(n − 2))

�	����� T (n) =

{
1 n < 2

T (n − 1) + T (n − 2) n ≥ 2

=⇒ T (n) =
φn − φ̂n

√
5

=⇒ T (n) = Θ(φn)

φ = 1+
√

5
2

= 1.61803, φ̂ = 1−√
5

2
= −0.61803



���������� 	
� ����
��	����
 ������� �� ��
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�

• ��
 n = 5� �� ������� 
�
������� (recursion tree) ���
� �� 

Fib(1)

Fib(2)

Fib(3)

Fib(4)

Fib(5)

Fib(2)

Fib(1) Fib(1) Fib(0) Fib(1) Fib(0)

Fib(3)

Fib(1)Fib(2)

Fib(0)

!
�����"���� ��  F (3) # $���%�

F (2) � $���%�

F (1) & $���%�

F (0) � $���%'

!
��(��� 
����� 
������� �
���������)

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

��� �������	 ��
	

• �
������� �� F (n) ��	�����
� 

� �� ���� (bottom-up)�

Non Recursive F ibonacci(n)

�� A[1..n] is an array in which we store F (1) · · ·F (n) ��

A[0] = 0

A[1] = 1

for i = 2 to n do

A[i] = A[i − 1] + A[i − 2]

return A[n]


����
	� Θ(n)



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

��������������	 ��
����	 ��
���


�����
� ��
 
	������
 �
�����
� < A1, A2, · · · , An > 

� n 
��
	�� 	
� ������� �


�
���������� �� �������� A1 × A2 × · · · × An�

• (A1 × A2) × A3 = A1 × (A2 × A3)� ����� � 
���

�
��
���� 
���	 � ���
�


�����
������	���

=⇒ !"��� �� 

�������	�
��#���� ������ �� ���� 

�������
�

���������� $�
 n = 4� �
��%��� � ��
	����� 

�������	�
��#����&

(A1 × (A2 × (A3 × A4)))

(A1 × ((A2 × A3) × A4))

((A1 × A2) × (A3 × A4))

((A1 × (A2 × A3)) × A4)

(((A1 × A2) × A3) × A4)

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

������� ���
 �������� 
���	�� ���
� ������ �����	�
��
�
�����
 ��� ���
� ��
�



��� 
��
	
� � �� �������� ��� 
����� 

�������	�
�������� ��������� 
��


���	�����
� 

� 

����� ���!

���	
��� " ��� ��� 
���� �
���� �
 ����	����� ��
 	��� ������ ��
��	�� ���� ��!

�
����� #
 ���$��� ��� � 
���� 

�������	�
��� � ��
� �
���
��	�� �	%�
 �� n

 ���$���� �$�� 
	��&'� n − 1 (������
 

����� ���! )*
�������� ��
��	���

���� ���!+



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

Matrix multiply(A, B)

if columns(A) �= rows(B)

then error “incompatible dimension”

else for i = 1 to rows(A) do

for j = 1 to columns(B) do

C[i, j] = 0

for k = 1 to columns(A) do

C[i, j] = C[i, j] + A[i, k] · B[k, j]

• ��� � A ���
� ��
� p × q 
��
	
� 	
� � B ���
� ��
� q × r 
��
	
�� ���� � C ���
� ��
�

q × r 
��
	
��

• � 
��������� �	����� 
	����� pqr 
���

�
 �
 ��!��

���������� A1 = 10 × 100, A2 = 100 × 5, A3 = 5 × 50

((A1 ×A2)×A3) "����#��
� (10 · 100 · 5) + (10 · 5 · 50) = 7, 500 
���

�
 �
 ��!��

(A1 × (A2 × A3)) "����#��
� (10 · 100 · 50) + (100 · 5 · 50) = 75, 000


���

�
 �
 ��!��

=⇒ $  ���� �� ��� �
��
 �	����!��
� �� 
���

�
 �
 ��� �%� 
���	%� ���
� 
��!

 ��
���	&'

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

������� ����� ���
� � 
������ ��� ���
��� 

�������	�
��������

���	���� ��� ���!���� ��� 
����� 
��� �� P (n)"

(A1 × A2 × · · · × Ak)︸ ︷︷ ︸
P (k)

× (Ak+1 × · · · × An)︸ ︷︷ ︸
P (n−k)

#
���$�� �
 ���%���� ��� 
�
�����	� �&'��(

P (n) =

{
1 ��� n = 1∑n−1

k=1
P (k)P (n − k) ��� n ≥ 2

) �$�� ���
� � 
	������
 ��� 
������ Catalan" P (n) = C(n − 1) �
��*

C(n) =
1

n + 1
(2n

n ) = Ω(4n/n3/2)

+,	����	� �� 
��� n-.
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• Ai..j ���������� ��� 
��
	
 
�� 
��	�
��� 

� ��� 
���

�
��
��� Ai × · · · × Aj �

���������� ��
 �������� 

�������	�
����� ��� A1 × · · · × An � ����� ��

�������� ���
�� � � Ak 	
� Ak+1 ��
 	�
��� 
	��
�� k, 1 ≤ k < n�

((A1 × A2 × · · · × Ak) × (Ak+1 × · · · × An))

������� ! 

�������	�
����� ��" �
�#
����$
" A1 × · · · × Ak �� ��
 ��������



�������	�
����� ��" A1 × · · · × An ���
� �
���" ���������

�
������ %�� �
����� ��
 	
������ 

�������	�
����� ��
 �� A1 × · · · ×Ak & ����

�
������ �
 	
�
�	�������� ��
 	
������ 

�������	�
����� 

� �� �������� ��
 ��

A1 × · · · × An� ��
 	
�
�' 
���(
���

�

�������� )*���� ��+���
 ������ ��
 ��� �
�#
����$
 Ak+1 × · · · × An�

���������� 	
� ����
��	����
 ������� �� ���

�

�

�

��� ��������	
 ��
�

• m[i, j] ���������� ��� �������� 
����� ��� 
�
�	
��� 
���

�
��
���� ��
 ���

�
�������� ��� Ai..j �

• � ����� �
 ���!�� ��� 

�������	�
����� ��� ��������
� m[1, n] 
���

�
��
���!"

��
 ��� �
�������� ��� A1..n�

• #
�� ����� ��� � 
��
	
" Ai ���
� $�
������� [pi−1 × pi]�

%
���!�� �
 �
���������� �� m[1, n] � �� ��" 
�
$����	&" �� ��"'

m[i, j] =

{
0 ��� i = j

mini≤k≤j{m[i, k] + m[k + 1, j] + pi−1pkpj ��� i < j

• ()�
" 
�
$����	�" 
��������" �
��������" ���� 

�

��� �� �� ��������
�

�������
��� �	����	� ����� ��
 ��� �	� ���& ���*
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 ������� �� ���

�

�

�

��� ���� ��	�
��
� ��
���

����

�

���������� ���
�� �
 ������� Θ(n2) �
��
������
�
� ��
 ��
 	��� ���� ���

������� i 	
� j 
�� �	
��
���� �� � ��� 1 ≤ i ≤ j ≤ n!

����� "
 �
���������� �� m[1, n] ��	��#��
� 

� �� ���� $bottom-up%! "


�
���������� ��
 �
 m[i, j] ��
 
��
������� ����� ��� (j − i)!

Matrix Chain order(p)

�� p =< p0, p1, · · · , pn >� the dimensions of the matrices ��

n = length(p) − 1

for i = 1 to n do

m[i, i] = 0

for l = 2 to n do /* l denotes the “length” of Ai..j ��

for i = 1 to n − l + 1 do

j = i + l − 1

m[i, j] = 0

for k = i to j − 1 do

q = m[i, k] + m[k + 1, j] + pi−1 · pk · pj

if q < m[i, j] then m[i, j] = q

return m

�	������ Θ(n3)

���������� 	
� ����
��	����
 ������� �� ���

�

�

�

����������

Matrix Dimensions

A1 30 × 35

A2 35 × 15

A3 15 × 5

A4 5 × 10

A5 10 × 20

A6 20 × 25

1 2 3 4 65

1

2

3

4

5

6

j
i

0

0

0

0

0

0

3,500

5,000

7,125

2,500

1,000

9,375

4,375

750

7,875

2,625

15,125

10,500

5,375

11,87515,750

M

m[1, 2] = 30 · 35 · 15 = 15, 750

m[1, 3] = min

{
m[1, 1] + m[2, 3] + p0 · p1 · p3 = 0 + 2, 625 + 5, 250 = 7,875

m[1, 2] + m[3, 3] + p0 · p2 · p3 = 15, 750 + 0 + 2, 250 = 18, 000

m[1, 4] = min

⎧⎪⎨
⎪⎩

m[1, 1] + m[2, 4] + p0 · p1 · p4 = 0 + 4, 375 + 10, 500 = 14, 875

m[1, 2] + m[3, 4] + p0 · p2 · p4 = 15, 750 + 750 + 4, 500 = 21, 000

m[1, 3] + m[4, 4] + p0 · p3 · p4 = 7, 875 + 0 + 1, 500 = 9,375
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	������� ��� 

�������	�
������

���	���� ���� ���� �
�
�������� 
��
	
 split �
��� split[i, j]  ��!��� �� ����

�
�� "���#���� �� �������� Ai..j $

Matrix Chain order 1(p)

/* p =< p0, p1, · · · , pn >, the dimensions of the matrices */

n = length(p) − 1

for i = 1 to n do

m[i, i] = 0

for l = 2 to n do /* l denotes the “length” of Ai..j */

for i = 1 to n − l + 1 do

j = i + l − 1

m[i, j] = 0

for k = 1 to j − 1 do

q = m[i, k] + m[k + 1, j] + pi−1 · pk · pj

if q < m[i, j] then

m[i, j] = q

split[i, j] = k

return m, split

���������� 	
� ����
��	����
 ������� �� ���

�

�

�

� ��������	
 �	�����������	
 �������
 �������

Matrix Chain Multiply(A, split, i, j)

/* Computes Ai..j . A is the set of matrices */

if j > i then X = Matrix Chain Multiply(A, split, i, split[i, j])

Y = Matrix Chain Multiply(A, split, split[i, j] + 1, j)

return Matrix Multiply(X, Y )

else return Ai
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• �������� �	
�����
 ��������������


• � �������� ���� ��� 
������
��� 
������� ��������� ������ ��� �
� 
����������

���!

• "
�	
��
�����
 �
� 
������
�
!

• ����
���
�	�� �Memoization� #������
�$��� ��� 
�
%����	� 
��������&


��� 

���	���� ��� ���� �� 	��� �
� 
������
 ��
 ��������	� �����! '� ���

���
� 
��� ������� �� 	��� �
� 
������
 ���� �$
 (���!
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 ������� �� ��
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�

������� ���	
 �����
���

������� �� �������� ��
 
	������
 X =< x1, x2, · · · , xm >� ��
 ���� 
	������


Z =< z1, z2, · · · , zk > ���
� �
��
	������
 ��� X ��� �
����� ��
 ����� � 
!����



	������
 < i1, i2, · · · , ik > 

� ���	��� ��� X �����
 "��� ��
 ��
 �
 j = 1 · · · k
���!�� xij = zj #

���	
����� X =< A, B, C, A, D, E, A, F, B >

$
��
	������
 ��� X �	������
 ���	�"� ��� X

Z =< A, C, D, E, A > < �� %� &� '� ( >

Z =< A, B > < �� � >� < �� ) >� < *� ) >

• ��
 	
�!���� 
�


����
��+

X: <A B C A D E A F B>

Z: <A C D E A>

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�� �������	 
�� ��
��
�� ������ ����	�������	� �����

�The longest common subsequence (LCS) problem�

�������� ��� 
	�������� X 	
� Y �

��������  �!����� 	��"# �
�$
	������
�

�	�	���
�	
	

X:  A  B  C  B  D  A  B

Y:  B  D  C  A  B  A

X:  A  B  C  B  D  A  B

Y:  B  D  C  A  B  A

Y:  B  D  C  A  B  A

X:  A  B  C  B  D  A  B
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• �����
� �� ����� ���
��	�� 
����
��
�������

• � ��� 
�	��!" �#
����!"�

�����	��

$� �����!��" � ��
#�����	!" �	�����" (versions) ���" 
�������
��"% �
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• ����� S �� ������ ���� ��� ���
��� �
��
	�������� ��� X 	
� Y  

• ������� 	��� �
��
	�����!
 ��� S 	
� 
���������� ��� "#$ 

�	��


 ���� �!�
� �� �%����& ��� ������� S'

�����


 ����� k = min(legth(X), length(Y )) (���) |S| = 2k 

���� 	
����� ��� 

��*	+ 
���%����� 
���
,�	+-



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

��� ��������	
 ��
�

����� X =< x1, x2, · · · , xm > 	
� Y =< y1, y2, · · · , yn >�

��������� �� Xi ��� �
��
	����� 
 Xi =< x1, x2, · · · , xi >

	
� �� Yi �� �
��
	����� 
 Yi =< y1, y2, · · · , yi >�

����� c[i, j] �� �!����" ��" #$% ��� Xi 	
� Yj �

#
" ��&�
'!��� �
 �
���� ����� �� c[m, n]�

#
���(�� �
 ���)���� ��� 
�
&����	* �+!��,

c[i, j] =

⎧⎪⎨
⎪⎩

0 ��� i = 0 * j = 0

c[i − 1, j − 1] + 1 ��� i, j > 0 	
� xi = yj

max(c[i, j − 1], c[i − 1, j]) ��� i, j > 0 	
� xi �= yj

�����
� �- � �
� � 

�

��� �+!�� ����*.

��- ��" 	
�
�*�
�� �� 
��*.

������
� �- /�0

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

��� c[i, j] =

⎧⎪⎨
⎪⎩

0 ��� i = 0 � j = 0

c[i − 1, j − 1] + 1 ��� i, j > 0 	
� xi = yj

max(c[i, j − 1], c[i − 1, j]) ��� i, j > 0 	
� xi �= yj

• ��� i = 0 � j = 0�

����������� ��
 

� ��� 
	�������� ���
� 	��� !��
" � ���� �
�#
	������
 ���
� �

	��� �
�#
	������
 $���%���&��
� �� �� ε� 

• ��� i, j > 0 	
� xi = yj �

< x1, x2, · · · , xi−1, xi >

=

< y1, y2, · · · , yj−1, yj >

LCS(Xi, Yj) = LCS(Xi−1, Yj−1) ⊕ xi

=⇒ c[i, j] = c[i − 1, j − 1] + 1

$⊕ ���%���&�� �� ���'�(�� ���%�������)� *


	������)��

• ��� i, j > 0 	
� xi �= yj �

< x1, x2, · · · , xi−1, xi >

�=
< y1, y2, · · · , yj−1, yj >

LCS[Xi, Yj ] =

⎧⎪⎨
⎪⎩

LCS[Xi, Yj−1]

�

LCS[Xi−1, Yj ]

=⇒ c[i, j] = max(c[i, j − 1], c[i − 1, j])



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

��� ��������	
 ����
�����

• ���� 
���
���� �
�� �� � �
��
	�������� ��� � ��� 	����� �
��
	�������� !�	��� ���

ε"# � 
���������  ����$��
� �	����	�  ����%

���������� � ������� �� &���'��
 
�
����(�) ��
 �� C[3, 4]%

c[0,4]

c[0,3]

c[0,2]

c[0,1]

c[0,0]

c[1,4]

c[1,3]

c[1,2]

c[1,1]

c[1,0]

c[2,4]

c[2,3]

c[2,2]

c[2,1]

c[2,0]

c[3,4]

c[3,3]

c[3,2]

c[3,1]

c[3,0]

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

������� �
 �
��������� � 
������ ��� 	������ ��� ��
��	
��
� 
�� �
�������� ��

c[i, j] 	
�� �� ����	��
 ��� �
�������� ��� c[m, n]! �
�� 0 ≤ i ≤ m, 0 ≤ j ≤ n"

• ���#
�$�! �
��%��� �
�	
��
�����
 �
�&
��'���
�
 �
 �
��
 � 
��������� �


� ��� 

�

��� 

� ��
 #��(�"

)* 
�
�����	�� 
��������� %�������
� �����%����� �	����	� %����"+

�����	���� ,� c[m, n] �
���� �
 �
��������� � 	��
 ��	��$��
� 

� �� '���

)bottom-up+"

)�
 ���
������� � 
��
	
� c ��
���&��
��� 

� �
 
������� 
��� �
 �����"+



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

LCS length(X, Y )

m = length(X)

n = length(Y )

for i = 1 to m do c[i, 0] = 0

for j = 1 to n do c[0, j] = 0

for i = 1 to m do

for j = 1 to n do

if xi = yj

then c[i, j] = c[i − 1, j − 1] + 1

b[i, j] = ↙
else if c[i − 1, j] ≥ c[i, j − 1]

then c[i, j] = c[i − 1, j]

b[i, j] = ↓
else c[i, j] = c[i, j − 1]

b[i, j] = ←
return c, b

�������� � 
��
	
� b �������
�����
� ��
 ��� 
��	���� ��� ��� 

���������� 	
� ����
��	����
 ������� �� ���

�

�

�

���������� X= A B C B D A B

Y= B D C A B A

B

A

D

B

C

B

A

B D C A B A

0

1

2

3

4

5

6

7

i

j 0 1 2 3 4 5 6

0

0

0

0

0

0

0

0

0 0 0 00 0

0 00 1

1 1 1

11

1 1

11

1

1

1

2 21

2 2 2

2 2

2

2 2 2

2 2

2 2

3 3

3 3

3

3

3

4

4

4



���������� 	
� ����
��	����
 ������� �� ���

�

�

�

������� � ���
 ���
� � 
���
��	����
 ��� LCS()�

��	
����� O(mn)

������� � ����� ������ ��������
� ��
 ��� 
��	���� ��� ��� 

� ��� 
��
	
 b�

��	
����� O(m + n)

������� 
 ���� �� �� 


�����
� ��
 ��� �	�!���� ��� LCS()�

��	
����� O(mn)

������� � "��
� #��
�� �
 $����%��� � 
���
��	����
 �&��� ���� 
���
�%��

�
�� �!����� �
 �
���������� ���� �� � 	�� ��� ����

��	
����� '
�( ���� � ��
��!� ��� 
��
	
 c ���
� 


�
������)

=⇒ O(min(m, n)) �� ��)

��������� *��� 
���
�%�� 
�� #�� �
���� �
 
�
	����� � ���)



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�������� �	
	����� ��� 
��� ����	� 
����


�������� ���
 	
������������ �� ����� ��� ��
 G = (V, E) �� ���������

������ w : E → R!

������� "�
 	��� #�$��� 	���%� u, v ∈ V �� ���&���� ����
��� 

� ��� u


��� ��� v!

�������� '
 ������������ (�
� 
��
	
� 

������%� ���
�$ �%� 
���%� ����

���	�$ &����!

��	�
 ���

 ���
�����


Trivial All Pairs(G, w)

for each v ∈ V (G) do

Run Dijkstra() with v as the source vertex

��������
���� )��
����� *��
�$��
���+� O(V 3)

)��
����� *��
��	�$ �%��$+� O(V E log V )

�������� , 

�

��% 
��������� ����� �� �%��- 

������ ���� ��� ��
 �
 ����

���
� ��.
�����	�!

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

��� �������	�
 ���� 
����	��� ����������	����

• � 
��� ���� ����	���� �������	��

�������� �� �������� ����
��� 

� ��� 	���� i 
��� ��� 	���� j ��� 
	������	

���� 

� 	������ ��� ������� {1, 2, · · · , k}.

k

i j

P
P1
2

all intermediate vertices in {1,2,...,k-1} all intermediate vertices in {1,2,...,k-1}

P: all intermediate vertices in {1,2,...,k}

• ��� ���
���	�� ���


������	���� d
(k)
i,j =�� ����� ��� ��������� ����

��� 

� ��� i 
��� ��� j


�� !�"����
� ���� 

� 	������ ��� ������� {1, 2, · · · , k}#

d
(k)
i,j =

⎧⎪⎨
⎪⎩

wi,j ��� k = 0

min(d
(k−1)
i,j , d

(k−1)
i,k

+ d
(k−1)
k,j

) ��� k ≥ 1



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

Floyd Warshal(W )

n = rows(W )

d(0) = W

for k = 1 to n do

for i = 1 to n do

for j = 1 to n do

d
(k)
i,j = min(d

(k−1)
i,j , d

(k−1)
i,k

+ d
(k−1)
k,j

)

return d(n)

������������	 
����� & 

���� O(V 3)

�������� � � 
���
��	����
 ����� �
���� �
 ������� �� O(V 2)� �
�
�������

��� � �
��������� ��� d(k) �������
���� ���� ��� d(k−1)�

�������� �  
��������� Floyd Warshal !���� �� ����� 

��"����
 ���� ��


��
#��
�
 
���� 	��������� �������� $%�
��&'

�������� � ()�� ���
* �
������
�� ���� �� 	����� ��� ��������� ����

�����

��� "����� !����� 
�� �
 
�
	������� �
 ����
���
� $+� 
��� ���
� 
�
	���� �


����
���
&'

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

1

2 3

4

5-4 6

-5

4

3

2

1
7

8 d(3) =

⎛
⎜⎝

0 3 8 4 −4

∞ 0 ∞ 1 7

∞ 4 0 5 11

2 −1 −5 0 −2

∞ ∞ ∞ 6 0

⎞
⎟⎠

d(0) =

⎛
⎜⎝

0 3 8 ∞ −4

∞ 0 ∞ 1 7

∞ 4 0 ∞ ∞
2 ∞ −5 0 ∞
∞ ∞ ∞ 6 0

⎞
⎟⎠ d(4) =

⎛
⎜⎝

0 3 −1 4 −4

3 0 −4 1 −1

7 4 0 5 3

2 −1 −5 0 −2

8 5 1 6 0

⎞
⎟⎠

d(1) =

⎛
⎜⎝

0 3 8 ∞ −4

∞ 0 ∞ 1 7

∞ 4 0 ∞ ∞
2 5 −5 0 −2

∞ ∞ ∞ 6 0

⎞
⎟⎠ d(5) =

⎛
⎜⎝

0 1 −3 2 −4

3 0 −4 1 −1

7 4 0 5 3

2 −1 −5 0 −2

8 5 1 6 0

⎞
⎟⎠

d(2) =

⎛
⎜⎝

0 3 8 4 −4

∞ 0 ∞ 1 7

∞ 4 0 5 11

2 5 −5 0 −2

∞ ∞ ∞ 6 0

⎞
⎟⎠
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Transitive closure of directed graphs

�������� ���
 	
����������� ������
 G = (V, E) 

�������� ���
 	
����������� ������
 G� = (V, E�) �
��

E� = {(i, j) : �
��!�� ����
��� 

� ��� i 
��� ��� j ��� G} 

����������

1

2

3

4

1

2

3

4

G: G :*

	
��� �
��� ����������

• "
�
!#���� $���� %�& �� ���� ��� 
	�'� ��� G 

• �	�'���� ��� 
�������� Floyd Warshal().

• ��� �� 	����� ��� ����

���( 

� ��� i 
��� ��� j ���
� ������� ��� ∞
���� (i, j) ∈ E� 

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

����� ������� �	
��
����

t
(0)
i,j =

{
0 ��� i �= j 	
� (i, j) ∈/ E

1 ��� i = j � (i, j) ∈ E
t
(k)
i,j = t

(k−1)
i,j ∨ (t

(k−1)
i,k

∧ t
(k−1)
k,j

)

Transitive Closure(G)

n = |V |
for i = 1 to n do

for j = 1 to n do

if i = j or (i, j) ∈ E then t
(0)
i,j = 1

else t
(0)
i,j = 0

for k = 1 to n do

for i = 1 to n do

for j = 1 to n do

t
(k)
i,j = t

(k−1)
i,j ∨ (t

(k−1)
i,k

∧ t
(k−1)
k,j

)

return t(n)

���	���� �
��������
� �� 
��� ��� Floyd Warshal�

�	����������� ���
� ������������ 	
� �������
���� �������� ����� �	
��  �


��
���� 

������
!�



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

���� ��������

�������� ���� 
������
��� P 	
� ���� 
��������� A 
�� ����� �� P � �
�������� �


���������� “��� ����� � ��	
���
�� A � ��������� �����
� ��	
���
�� 	�� ��

��
���
� P � ”

���
��� �����!"��� ��� A �
���� �
 ���
� 

• #���"� ��� 


��������� $�����

• #���"� ��� 


��������� $!��� %�����&

'
�������� ��
 ��!���
 ��� ���(�� 

“����� �� ��	
���
�� 	�� �� ��
���
� P ����� ��������
����� T (n) ≥ f(n)� ”

• #�
 "������"� f(n) 
�� ��(
�����
� "� ��
 ������ ��!���
 ��������
� ��
 ����

���	
� (lower bound) ��� 
���
��	����
� ��� 
������
��� P )

• '�� �
��$�� ��
� 
��������� ��
 �� P 
���
��	����
� f(n)� ���� � 
���������


���� ���
� ����� ��� (optimal))

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�� ������� �����	
���� �
���
 �� ����
 ����� �

������

���
�� �
 ���
� ��	��
�� 
��� ���
� �� ������� �
��������� 
�� �������� ��
�

	
�
������� �� ��
 	��� �����
 (lower bound)�

•  ���
�! 
���
��
��! ��� "�"������ 
��
�� �
 ���
� 	
���������! �� 
	��#��

$��%
�
 
���
��
�� & �����
	� 
���
��
��'�

•  � �
����
��! 
�����! ��
 "�"����
 
��
�� �
 ���
� 	
���������! �� �
�����
 $��
������ ��� �����(� 
�� %������
���� � 
��������!'�

��
���
	��

�! ���������� ��
 �
���������� ����
 ����%���� �� ��
 �
���
) 
�� �
������ �


"�
�%������ �����
	�� * 	��
�� ��! �
���
! 
�%�	� #���	��
� ���� 
�%� ��! �
���
!

	
� �� ����%��("��! 
�����! ���
�+

�� move head(direction) $direction �→ Left � Right'

�� compare(key) $,��	���� ��� key �� �� ����%��� 
�� #���	��
� 	��� 

� ���

	��
��'

-� if “condition ”then “jump ”

.
�������� ��� �� ����%��("��! 
�����! 


����� O(1) %�����
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�

• ���
 ���������� 	��� �����
 ��
 ��� “
�
������ ”�� 
��� �� ������� � �
� Ω(n)!

��� �� ����"� � key � �
� �� ������
 � ����"� � ��# � ��
#$ ���� �
 
��
�� �


�	��������� �����"����� n − 1 move head(right) ������#!

������� ��� Ω(n) � �
� ��
 	��� �����
 ��
 �� 
��%���
 ��# 
�
������# �� ��

������� 
�� &'��	� 

�

���$ 
'# � �
� &��
��� �
 �"���� ��
� O(log n) 
��������

(&�
&�	� 
�
������)*

��	
���� �
��&� � 
��������# ��# &�
&�	�# 
�
������# � �
� �"�&�
�����# ��


� 
 ��"
 
# 
���
��
��# ��"
�� (random access machine - RAM)! ���
 &�
������	�

������� �
��������+,

�-�
� �	�������� ��
 	��� �����
 ��
 	�
��
 
��%���
�
$ �
 
��
�� �
 ��#

�
 
����������� �� ������� �
��������+ (model of computation) �� %��� ��

�
� � 	
�
���
�� �� 
��� �� 	��� �����
!

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

������� � ������� �	��
��
�

• ���
� � ������� ���� 
������
��� � �� ������� n!  ���
"��
��� ����� ����� n

���
�
 ��
 �
 ��
������� ��� ������#

�
�
������$ %� ��������� 
���
�&���� ��'��(�� ��� �
 �������
 ����	���
� ���



���	�����
 ���� �����#

• ���
� � ������ ���� 
������
��� 

�������
� 

� f(n) ���� ��&�� ���� ��
! ����

 ���
"��
��� ����� ����� Ω(f(n))  ���� ��
 �
 �
 
�
)������#

�����	��
���

*
�������� Ω(n) 	��' )����
#

����

�
��
���� 
���	'� Ω(n2) 	��' )����
#

+�� ���
 ����
���
 

� 	���� 
)�����
 Ω(|V |) 	��' )����
#

+�� ���
 ����
���
 ��
 	��� "�(��� 	���'� Ω(|V |2) 	��' )����
#

+�� ���� ��
�������	� ������ Ω(|V |) 	��' )����
#

	#�#	# ###
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�

�

�

������ ���	 
����
��� ��
 ��� ������ ��� “
��������”

(Adversary lower bound)

�������
 ������ ��� 
������
��� n 
�������

������
 � ������ ��� 
������
��� n 
������ 


���� Ω(n)  �����

�������� !��
������" � 
��������� �
 
�#
�� �
 �������� ��
 �
 ���� ��
 ���

����$�� ��
 �
 �
�������� �� �������
 ����%�

• �� �
��#����� ��� �
�� �� #�
� 
��������� 
�� $�� �����&�� ��
 �
 ���� ��
�

• '�
���� 
���

��� (adversary) 

�
	������� 	
� ��
� � 
��������� 

�(
�����)



���*
���� 	
� 
���&�� #�
 ���� ��� �� �
��� $�� ��������	��

• ��� �	���#����� �
�� ��� 
��������) ���� �
 ��*���� �
�� �� �$�� 

��#����
)

	
��� � 
��������� $�� �
 
�����(��� ��� 
��
�+� ,��� 
�
��
��	����
 ��-� ��



��#����
 ���
�� 	
� #��� � 
��������� ���
� �
���#���.

/��
) 	��� �-���� 
��������� ��
 ��� �
�������� ��� 
������
��� n 
������

�����&�� 	��� ���� ��� 	
� #��� ���
� Ω(n)�

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

���� ������ �	� �
 ���
���� ��� ���	�������

�
����
 ��
�
�	��
�

• ���
�� ���
�
� 
���
��
��� (RAM)�

•  
����
���
� ���� ���	������ ���
�! �������"��
• ���������� ��
 �� 

�

��" ������� �����#���
� 
��������� �
��������� ���"
���	����"� �comparison sorts��

• �
���!�� �
 ���� 

�
�������� 	
� "� $��$�
 

�%
��� (decision trees)&
a2a1 :

a2 a
3:

a1 a
3: a2 a

3:

a1 a
3:

1, 2, 3

1, 3, 2 3, 1, 2

2, 1, 3

2, 3, 1 3, 2, 1

��������

a : b
 �"����	�� 	��'��� (� a ���	�����
� �� �� b�

)!���� �������� ��� ���$� ��� 
����������



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

• �
������ n! 
��
��� ���
������ ��� �������� ���
 �� ������ 

�!
��� �
 
��
�� �


���� ����������� n! !"��
�

#� �$	�� ��� ���
�"����� ����

���" 

� ��� �%&
 ��� ������� 

�!
���


��� �
 !"��
 

�������� �� 
����� �'� ���	�%��'� 
�� �	����% �


��������� �
��������� ���� ��������� 
��%
�'���

���������

�� �(�
 ��
��	� ������ ")��� h ���� �� 
��" 2h !"��
�

*� n! >

(
n

e

)n

e = 2.71828...

+ 

�

��' �"
�� 

������ 

� ��� 
��������� ��� Stirling,

n! =
√

2πn

(
n

e

)n (
1 + Θ

(
1

n

))

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

������� ���� ������ 

��
��� 
�� �
������� n �������
 ����  !�� Ω(n log n)"

��	
����

#$��% ��� ��
 ������ ������ ����  !�� h" &���'

n! ≤ 2h (����
�� �)

=⇒ h ≥ log(n!)

=⇒ h ≥ log

(
n

e

)n

(����
�� *)

=⇒ h ≥ log

(
nn

en

)
= n log n − n log e

=⇒ h = Ω(n log n)

�

������� + 
��������� MergeSort ���
� 
���
�%��	� ,��������"

��	
���� + 
��������� MergeSort �������
���� �� ���� ������� �
�������� ��


��� 
�� �������
��-�
�� 

�

��% ��
 �
 ��,���� �� Ω(n log n) 	��% �����
"

$
�
����' � 
���
��	����
 ������ ��� ���
� O(n log n)"

�



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�������� (Reductions)

• ���
� ��� 
������
�
 ���� !���
�" � �
� ���
��� �
 �������
�������� #�
� 
��������

��� ���$ ��
 �
 �
�������� �� ����%

• �&��' P, P ′ ��� 
������
�
 	
� I #�
 
��
 ���� ���������
� ��� P % &
 ��$"

�
��#����� ��� ��'� !���� #�
� 
�������� A′ 
�� �
����� �� P ′% (���" 
��
��� �


�
������ �
 �
�������� �� P �
'$ )
 ���
� 

�
	��'*

I −→ ���
���
� ���������
�� −→ I′

↓ ↓
���������$ A ��
 �� P ���������$ A′ ��
 �� P ′

↓ ↓
S ←− ���
���
� ����$ ←− S′

• &�� �
����� #�
$ 
��������$ ���
���
�$ ��� I ��� I′ 	
� ��� S′ ��� S" ���� �#�� ���

�� P 
�����
� (reduces) ��� P ′ �" ��� �� P ���
����
� !��
� (transforms) ��� P ′%

• +���������$* P ∝ P ′%

���������� 	
� ����
��	����
 ������� �� ���

�

�

�

�������

�
�������� ��� P ∝ P ′ 	
� ��� �� 
���
��	������ ����� �������� 
���
���� ��
 ���

���
���
! ��� I ��� I′ 	
� ��� S′ ��� S ���
� f1(n) 	
� f2(n)" 
��������
" �
�� n

���
� �� ������� ��� ���������
�� I# $���"

�# %�
 	��� 
�������� ��
 �� P ′ �� �������� 
���
��	����
 W ′(n)" �
����� ��
�


��������� ��
 �� P �� 
���
��	����
 f1(n) + W ′(n) + f2(n)#

&# '�� g(n) ���
� ��
 	��� (����
 ��
 ��� 
���
��	����
 ��� P " ����

g(n) − f1(n) − f2(n) ���
� ��
 	��� (����
 ��
 ��� 
���
��	����
 ��� P ′#

��	
���� �)��
� 
�����*���
 ��!�
�
 

�# +
�
�	���,���
� ��� 
��������

&# -� ��� ���
� �

���!#

�



���������� 	
� ����
��	����
 ������� �� ���

�

�

�

���� ���� �	�
�� 
�� �
 �	������ ���������� ����	�� Huffman

�	������ �������� n ����� w1, w2, . . . , wn �
 ������ ��
 ������ Huffman ��


����

• ���
 ������ Huffman ��
 �!��
���� �� �����!�

∑

c is leaf

w(c) · dT (c)�

���	��� " 	
�
!	��# ��� ������� Huffman ���
� 
���
��	����
� Θ(n log n)�

�������� $����%�� �� 

�
	��� 
������
 Sort�&

�����
� ��
 !%���� n ����	'� 
����'� w1, w2, . . . , wn ��
 ���� �
�����

�
�� �� ��
 ������!� w′
1, w′

2, . . . , w′
n ��!� '!��&

w′
i >

i−1∑
j=1

w′
j

��
 	��� i� (
 �
��������%� �� 
������ 
�����

• ���
� �%	��� �
 ��%�� ��� Sort� = Ω(n log n)� )��� ������ 

�*
!�� �
 
��
�� �


� �� ����� �!��� n! *%��
�

���������� 	
� ����
��	����
 ������� �� ���

�

�

�

Sort� ∝ Huffman tree problem

{w1, w2, . . . , wn} −→ {0, w1, w2, . . . , wn}
↓ ↓

Sort� ���������� Huffman tree

↓ ↓

{w′
1, w′

2, . . . , w′
n} ←−

w’1

w’n-1

nw’

0

�
�� ����
��
� 	��� 
��������� ��
 ��� 	
�
�	��� ������� Huffman� � �
� ��

!
� "��
� �� ���	� ���� �#�� 
���
��	����
 Ω(n log n)$



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

���������� �	 
������� 
����

���������� �	�
 ����
������ �Counting-Sort�

�������� n 
	��
��� 

� �� ������ [1..k]�

 ������� !� n 
	��
��� �
����������� �� 
�����
 ������

��	�� �
�"����� ��
 	��� ����#��� x ��� �������$ ��� 
����� �%� ����#��%� �
 �
��


���
� ≤ x�

• ! 
��������� Counting-Sort #������
���� & 
��
	���

A[1..n]� �����#�� �
 ����#��
 ��� ��������

B[1..n]� �����#�� ��� �
���������� ������

C[1..k]� '� C[i] 
����#�� ��� 
����� �%� ����#��%� 
�� ���
� ≤ i�

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

COUNTING − SORT (A, B, k)

for i ← 1 to k

do C[i] ← 0

for j ← 1 to length[A]

do C[A[j]] ← C[A[j]] + 1

/* C[i] now contains the number of */

/* elements equal to i (see (a) ). */

for i ← 2 to k

do C[i] ← C[i] + C[i − 1]

/* C[i] now contains the number of */

/* elements ≤ i (see (b) ). */

for j ← length[A] downto 1

do B[C[A[j]]] ← A[j]

C[A[j]] ← C[A[j]] − 1

21 3 4 5 6 7 8

3 6 4 1 3 4 1 4A

21 3 4 5 6

2 0 2 3 0 1C

21 3 4 5 6

C 2 2 4 7 87

21 3 4 5 6 7 8

4B

21 3 4 5 6

C 2 2 4 876

21 3 4 5 6 7 8

4B 1
21 3 4 5 6

C 2 4 8761

21 3 4 5 6 7 8

4B 1 4
21 3 4 5 6

C 2 4 871 5

21 3 4 5 6 7 8

4B 1 41 3 3 4 6

(a)

(b)

(d)

(f)

(c)

(e)

������������	 
�����
 O(k + n) ��� k = O(n) =⇒ O(n) 
����������

�	�	������ �� 

�������
 
��� ��� 
���	����� �� Ω(n log n) 	�� !����
� ���

"������
������ �� ������� ���	�#�� �� $��� 
�
��
��	����
% � 
���������

COUNTING-SORT() ��� �	
�� 	
�#
 ���	���� ���
�� ����"�# � ��� ��������



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

������� ���
� 
��������� �
��������� ���
� �������� (stable) ��� �
 �������
 ��

��� ���
 ���� �� 
��!���
� ���� "���� �� ��� ���
 ����� 
�� �� 
�����	
� ���� ������#

����	�
 $ 
��������� COUNTING-SORT() ���
� ����
���#

%& 

������ �����
� �� ��"�
�� ��� 
���������#'

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

���������� 	
��� ��
��������� ����������� � Radix-Sort

�������� n �������
 �����
 ���� 	��� �������� 

�������
� 

� d  �!�


�
�� �� 
���� "

� �
 
�������#  �!�� ��$
� �� ��	�������

�����  �!�� 	
� �� d%����  �!�� ��$
� �� ���
�&����� �����

 �!��'

(������� (�$
� �
��$�����$�� 
�$
	
� 
�� 
������� �
 n �������
 �� 
&%

����
 �����'

����� )
��$����� �
 �������
 
���
 �� *��� �� �������� ��	�
���� 
�����

��

�������

329

457

657

839

436

720

355

=⇒

720

355

436

457

657

329

839

=⇒

720

329

436

839

355

457

657

=⇒

329

355

436

457

657

720

839



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

RADIX − SORT (A, d)

for i = 1 to d

do use a stable sorting algorithm to sort array A on digit i.

�������� ��	 
������
	 ��� �

���� �� 
��� ��� 
����� ��� ��������

• �
�������� ��� �
  �!"
 #
��������� ����� �"�
� �
���������
�
• �
�$��	�%���� ��� � �
�������� �� 
��� �� �
�����  �!"� 
!���� ��� 
"�
	
 ����
�
�����������

• &'��� $%� ��#���
 ����#�"
(

• '�� �
 $%�  �!"
 �� 
���� ��� ���� �"�
� $�
!�����	�) ���� �
�����*��
� �

�� 
��� ��� ���� �
 +����%� ���� ����� $���
��� ,
 ��	������� �����

 �!"
 $�� �
����-��� �� 

�������
�

• '�� �
 $%�  �!"
 �� 
���� ��� ���� �"�
� "�
) ���� �
 ����#�"
 
���
+�"�	���
� �$� ���� ����� ����� ���� �����	�
����	� �
�
 �������

�������	� ����
�	����� �� �������� �� 
���	��
��
 ���
 ����� ������

�

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�������

• ���� ���� (pass) 


���� Θ(n + k) ������ �
�� 	��� ����� �
���� �
 
���� ���� 

�

�� �!���� [1..k]"

=⇒ Θ(d(n + k))

• #�� k = O(n) =⇒ Θ(dn)� �������
��$��
 �%� 
�������� COUNTING-SORT().

Sort��� 	
���
&����� �� ��� Radix-Sort'

#���(� ) *�
 ���(�(����� ����
 �%� n d+�,��%� �������%� �
�� 	���

����� 
�,	�� ��� (������
 [1..k]"

-#��(� ) *�
 �
���������� ���(�(����� ����
 �%� n �������%� �� 
!+

����
 �����"

�	�
� • .
 (�
�%������� �
 �������
 �� (����
 �bins�"

• /���% �� ��� 
�������� Radix-Sort"



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

���������� 	
��
 	�	
����� �k = 2�

D1

D1

D
2

D
2

/

/head

tail

head

tail

����	����� �
�������� ��� ����
� < 36, 9, 0, 25, 1, 49, 64, 16, 81, 4 >�

Bin Contents Bin Contents

� � � �� �� �� �

� �� �� � ��

� � ��

	 	 	�

� ��� � � ��

� �� �

� 	�� �� � ��


 


� � ��

� �� �� �

d = 1 d = 2

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

BIN − SORT (L, d, k) �� L ���
� � ����
 ��� ��������� ���� ������� ��

��  ��� �������� 

�������
� 

� d !�"�
� ��

��  ��� !�"�� ���
� ��� �#���� [1..k]� ��

for i = 1 to d do

• Process list L sequentially and place each element of L at the top of the list

Lj , 1 ≤ j ≤ k, where j is the ith digit of the element under consideration.

• Concatenate L1, L2, . . . , Lk into L.

������������	 Θ(dn + dk)

• $�� k = O(n) 	
� d ���
� ��
���� =⇒ Θ(n)�



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�������� �	
	��	�
�
�� �������
�� (Graph Acyclicity Testing)

�������� ���
 	
����������� ������
 G = (V, E)�

�������� �������� �� G 	�	���

ACY CLICITY (G)

�� �������� �	
 ���
����	 DFS(G) ��� �����	��	�	���� ��� ����� �� ����� ������	


����� ���� �� 
�����
 ����� ���� �� ���� ��� ����� ���� �� �������

�� ��
 ������� ��� ���� ���� �� ���� �
�� �	 ������� G �������� ����	�

������������	
 O(V + E)

	
���
�� ��� ���������

• ��� �� ������
 G ���� ��
 
	� 
��! �
 
�"# ���� 
���
�$! 
������� 	�	���

u

v

w

back edge

=⇒ 〈u, v, . . . , w, v〉 ���
� 	�	��!�

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

���������� ��� ��
 	
����������� ������
 
������� 	�	��� ���� ��
 
	�� 
�� 

�
 
�!" �
 ���
��!��� !� �
���#�
��� DFS ��� ��
���
�� $

• %�!�" ��� �� ������
 ���� 	�	��$

• %�!�" v � 	��&� �� ��� ��	������ ����� 
�
	���'� (discovery time) d[v] 
��


��	�� !�� 	�	��$

• (�"����� ��
 
	�� u −→ v !� 	�
��� 	�	�� 
�� 
������� ��� v$

u

v

• ���� � 	��&� u 
��	�� !��� 	�	���

���� � u ���
� 

����� ��� v !�� DFS

#�!� $ =⇒ ) 
	�� u −→ v #�� ���
�


	�� 
�� �
 
����
$

• ���� d[v] < d[u] =⇒ ) 
	�� u −→ v

#�� ���
� 
	�� #��#��� � 
	�� 
�� �


��
�� $

%��
� � u −→ v ���
� ��
 
	�� 
�� 

�
 
�!"$

�



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

������ �������	
�� ������
��

���
 ������ �������	
�� ����
���� (strongly connected component) ����

	
������������ ��
���
��� G = (V, E) ���
� ��
 �� �
�	������  maximal! �"����

	��#$� U ⊆ V ������ %��� ��
 	��� &�"��� 	��#$� u 	
� v ��� U ' �
��(�� ��


����
��� 

� ��� u 
��� ��� v 	
� ��
 ����
��� 

� ��� v ���� u)

�������� ���
 	
����������� ������
 G = (V, E))

�������� *
 ��(��� ���+�+����
 ����
��	� ��� G)

	
���
���


a b

cd

a b

cd

Its strongly connected componentsA directed graph

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

• ���� 	����� ���� 	
������������ ��
���
��� 
��	�� �� 	�
��� ������ �������� ��

����
��	�! 
��� 	�
���� 
	� � ��� ��
���
��� �
���" �
 ��� 
��	��� �� 	
� �


����
��	�# $ ����� 
	� � �����%���
� ������ �������	
� �cross-component
 �	���#

• &
���'�� �
 

�
�������� ��� ���� ���� ���
�' �(� ����
��	)� 	
�
�	���%���
�

 �
 � � ������
 
�� �����%��
� 
�
������ ������
 ����
��	)� (reduced component

graph)#

���������� *��� ���
+

d

a,b,c

• $� 
�
������ ������
 �"�
� 
������ 
	�	��	�#
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� ����
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 ������� �� ��
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�

STRONGLY CONNECTED COMPONENTS(G)

�� �������� �	
 ���
����	 DFS(G) ��� ��	�
���� �	�� ��

	�� 	�	�������� ���

������
���� (finishing time) f [u] ��� ���� �
��	 u �	� G�

�� ��	�
���� �	 �
����	�	 ������� GT �	� G�

 � �������� �	
 ���
����	 DFS(GT )! ���� ���
 ��
����� �
�������� �	� DFS

��"���� ��� �	����� �� ��#
	��� ���� �	� f [] $
��� ��	�	�#�����
 ��	 ���� �%�

&� '� �	����� �	� ���� (�
(�	� �	� DFS (��	�� �	� ��������� ��	 3o ����

��	���	�
 �� ������ ��
(�(���
� ��������� �	� G�

������������	
 O(V + E)

����������

a

b

c

d

1/8

2/7

3/6

4/5

a b

cd

G T

a b

c

a

c

b

d

d
d

G

8 7

65

a,b,c

After step 1
After step 3

���������� 	
� ����
��	����
 ������� �� ��
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�

�������� ��	 
������
	

• ��� v 	
� w ���
� ��� 	����� ��� ����� ����
��	��� ���� �
������ �
 ����
���
�

G
TG

v w v w

• �� 
�� �
 �������� ����

!� v 	
� w ����	���
� ��� ����

������ �������� �� ����
��	�

��� G"

⇐⇒
!� v 	
� w ����	���
� ��� ����

� ���� ��� DFS#�����$ ���

GT "

%=⇒&

• �$ �
�� ����� ��� ��� ���'��
 GT ��	����� ��� 
�
()���� 

� 	�
��
 ��(
 x 	
�

'������� ���� v" *���� � 	����$ w �
 	
�
�)��� ��� ���� � ���� +
'�� � w ���
�


���
�������$ 

� ��� v,"



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�⇐=� ��� 	����� v 	
� w ����	���
� ��� ���� � ���� ��� DFS! �����" ��� GT =⇒ ��

v 	
� w ����	���
� ��� ���� ��#��� �������� �� ����
��	� ��� G$%

• &'��( x � ��)
 ��� � ����� ��� DFS!����" ��� GT ��� �
��� 
�*	��� �� v 	
� w$

=⇒ +�� GT ∃  �
 ����
��� x −→ v =⇒ +�� G ∃  �
 ����
��� v −→ x$

• +�� GT , ��
� 
�
	
�-.��	� � x, � 	���.* v ��� ��#� 
	��� �
��	�����$

=⇒ +�� G, f [x] > f [v]$

=⇒ +��� �����-���� ��� G, 
�
	
�-
����� ��� v 	
�� ��� �����-���� 

� ���

x$

=⇒ / 	���.* v ���
� 

�����" ��" x ��� DFS!����" ��� G$

=⇒ +�� G ∃  �
 ����
��� x −→ v$ =⇒ �� x 	
� v ����	���
� ��� ���� ��#���

�������� �� ����
��	�$

• &����
 

����	�-���� ��� �� x 	
� w ����	���
� ��� ���� ��#��� �������� �� ����
��	�$

�

���������� 	
� ����
��	����
 ������� �� ��

�

�

�
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� ����
��	����
 ������� �� ��

�
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�

�������� ����	
������ �

���� � ���������� ��	 Kruskal

�������� ���
 ����������� �� 	
����������� ������
 G = (V, E) ��

��
 ���������  ����� w : E → R!

�������� ���
 ���"���� ��
�������	� ������ ��
 �� G!

• #
������$��
� � ������� 
����������

Generic MST(G, w)

A = ∅
while A does not form a spanning tree do

Find an edge (u, v) that is safe for A.

A = A ∪ {(u, v)}
return A

��	
��� (invariant) �
� 	��
��
�
�� “%� A ���
� 
������ ��
 �
��&����

	�
���� ���"����� ��
�������	�& �������”!

• '�
 
	�( (u, v) ���
� ��
 ������� ���� ��
 �� A ��� �
���� �
 
�������� ��� A ")���

�
 ��
�
�
"��� � ��
���� ��� 
���������!

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

MST Kruskal(G, w)

1. A = ∅
2. for each vertex v ∈ V (G)

3. do MAKE SET (v)

4. Sort the the edges of E in non-decreasing weight w.

5. for each edge (u, v) ∈ E, in order by non-decreasing weight,

6. do if FIND SET (u) �= FIND SET (v)

7. then A = A ∪ {(u, v)}
8. UNION(u, v)

9. return A

• �������
����
�� ��
 ��� 
�� �
��������� 
������ �� ���
 ���
�� ����  disjoint!

�����
"

#MAKE SET (v) $ ���������� ��
 ��� ������ 
�� 
����%�� �� ����%��� v"

#FIND SET (v) $ &
�����'�� �� ������ ��� �
��� 
��	�� �� v"

#UNION(u, v) $ ���������� ��
 ��� ������ 
�� ���
� � ��(�� �(�$

FIND SET (u) 	
� FIND SET (v)"

• ������� )��
�
 �*+$ O(V )

)��
 ,$ O(E log E)

)��
�
 -*.$ O(E + V log V )

��	
��
�$ O(E log E)
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�
������ ��� �������
� ��� 
��������� ��� Kruskal

������� ��� 

��
������� �
 
���������� ��� 
	�� (u, v) ��� A ���� � (u, v)

���
� 
��
��� 
	��!

��	
���� ����������� ��� 
	�� (u, v) ��� A ��� 	
� ���� ��� �� u 	
� v 
��	���

�� ��
������	� �����
 ��� G "
�� �#��� ��� �#��
������ 

� ��� �	������ ���


��������� ��� Kruskal$!

• ��� � (u, v) ��� ���
� 
��
��� ���� ���


��	�� ��� ���#���� ��
�������	� ���%

���! &��
 �
��#�� ��
 ����
��� p 

�

�� ������ 
�� 
����#�� ��� u 
��� ��

������ 
�� 
����#�� ��� v �� �
��� 
��%

	�� ��� ���#���� ��
�������	� ������

��� G!

u
v

p

• ���' �� ����
��� p 

�������
� 

� 
	��� �� (��� ���
�'���
 � ��
 ��� w(u, v) 

�
���'�� �
 
���	
�
�������� �
��
��
��� 
	�� ��� p �� ��� (u, v) 	
� �
 ��(����

��
 ���#���� ��
�������	� ������ �� �� ���� (���� ��� “�
�����	�' ”���#�����

��
�������	�' ������� ��� G!

&��
 � 
	�� (u, v) ���
� 
��
���!

�

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�������� �	
	����� ��� 
	�
� ��������

�������� • ���
 	
������������ ��  ���� ���!��
 G = (V, E) 	
� ��


���������  ����� w : E → R 
�� 
�������"�� �� 	��� 
	�# $�



�
��
��	� 
����� % ����&'

• ���
� 	�� �� 
!�����
 s'

�������� (
 ���"���
 ����
���
 

� �� s 
��� 	��� ���� 	�� � ��� G'

���������	
	 � Relaxation

• )�
 	��� 	���!# v ∈ V � �� d[v] ���
� $�
 ��* !����
 ��
 ��  ���� ��� ���"�����

����

���+ 

� ��� 
!�����
s ���� v'

d[v] = shortest path estimate

• , 
�"�	�
����� ��� d[v], v ∈ V � �����
� *� ��#��

INITIALIZE SINGLE SOURCE(G, s)

for each vertex v ∈ V

do d[v] ← +∞
π[v] ← NIL

d[s] ← 0



���������� 	
� ����
��	����
 ������� �� ��

�

�

�

�
�� ��� ����������	� ��
 ����
 (u, v)� ��������� ��� �
������ �
 �������

����� �� �������� ����
��� 

� ��� s ���� v 
��
 ����
! ���" ��! 
	�#!

(u, v)$

RELAX(u, v, w)

if d[v] > d[u] + w(u, v)

then d[v] ← d[u] + w(u, v)

π[v] ← u

����������

u v

d[u]= d[v]=

u v

d[u]= d[v]=

RELAX(u,v,w)

5 9

2

5 7

2

u v

d[u]= d[v]=

u v

d[u]= d[v]=

RELAX(u,v,w)

5

2

5

2

6

6

• ����"! ���� ��� �

��	� ���� ��! 
	�#! (u, v) ���" ��! RELAX(u, v, w)� ������%

d[v] ≤ d[u] + w(u, v)$

���������� 	
� ����
��	����
 ������� �� ��

�

�

�

• � 
��������� ��� Dijkstra �
���� �
 ��
��� 	
� ���

Dijkstra(G, w, s)

1. INITIALIZE SINGLE SOURCE(G, s)

2. S ← ∅
3. Q ← V [G]

4. while Q �= ∅
5. do u = extract min(Q)

6. S ← S ∪ {u}
7. for each vertex v ∈ Adj[u]

8. do RELAX(u, v, w)

���������� �� ���� 
��������� ��� Dijkstra� 	��� 
	� �

��	������ �������

��� 	
��!

���������� 	� � 
��������� ��� Dijkstra "����#�� $�$�� ���� ��
 ��
� �
�


�� �� 
�����	� %��� $��� 
	�&�!


������� �'� 
�������
�(���� �
 
�����	� %��� $��� 
	�&�)
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 ��
 BELLMAN-FORD

�������� • ���
 	
������������ ��  ���� ���!��
 G = (V, E) 	
� ��


���������  ����� w : E → R 
�� 
�������"�� �� 	��� 
	�# $�



�
��
��	� 
����� % ����&'

• ���
� 	�� �� 
!�����
 s'

�������� • (�
 ���# �)
�� boolean 
�� �
 ���*��� ��� )

��� 	)	���


�����	�)  ����� 
���
�������� 

� ��� 
!�����
 s'

• ��� ��� �
��"��� 
�����	�� 	)	���� �
 ���"���
 ����
���


%	
� �
  ��� ����& 

� ��� s 
��� 	��� ���� 	�� � ��� G'

BELLMAN FORD(G, w, s)

1. INITIALIZE SINGLE SOURCE(G, s)

2. for i = 1 to |V (G)| − 1

3. do for each edge (u, v) ∈ E(G)

4. do RELAX(u, v, w)

5. for each edge (u, v) ∈ E(G)

6. do if d[v] > d[u] + w(u, v)

7. then return FALSE

8. return TRUE

�	����	������ O(V E) %+��� 
	�# �

��	�����
� 
	�� *� |V | − 1 !��$�'&
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����������
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x y
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��	������� ��� 	������ �� ��� 
	������ ������

(z, u)

(z, x)

(u, v)

(u, y)

(u, x)

(v, u)

(x, v)

(x, y)

(y, z)

(y, v)

• � ����� ��� �

��	� ����� �!� 	��"!� � �
� 
��
 ����# $� 	��� “
��
��
”�
��� �


�

��	���%����� ��� 
	��� �� &�
������	% �����#
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��������� ��� BELLMAN-FORD

• ����� v ��
� 	����� 
���
�������� 

� ��� 
 �����
 s!

• ����� p = 〈s, v1, v2, . . . , vk−1, v〉 �� ���"���� ����
��� �#	��� k 

� ��� s ���� v$

k ≤ |V | − 1!

• %
 

��������� �� �

���# ��� d[vi] = δ(s, vi) &����
 

� �� i'���� “
��
��
”���


	�(�!

���� d[s] = 0!

������	
� �
��


 ���������� ��� d[vi−1] = δ(s, vi−1) &����� 

� �� (i − 1)'���� 
��
��
!


 �� ����������� ��� d[vi] = δ(s, vi) &����
 

� �� i'���� 
��
��
!

���� �
��
� 

� �
 

�
	���)

�! �

��	����&�� ��� 
	�# (vi−1, vi) 	
�� �� i'���� 
��
��
!

*! +
 �
� ' ����
���
 ��� ���"����� ����

��(� ���
� ���"���
 ����
���
!

�

���������� 	
� ����
��	����
 ������� �� ���
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�

���������� �� 
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	�
�� ��������� �� DAGs

(DAGs� ���������	��� �
�
��

 �����	����

DAGs Shortest Paths(G, w, s)

1. Topologically sort the vertices of G

2. INITIALIZE SINGLE SOURCE(G, s)

3. for each vertex u (in the topologically sorted order)

4. do for each vertex v ∈ Adj[u]

5. do RELAX(u, v)

������������	
 O(V + E)
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��	����
 ������� �� ���
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